Math 9: Unit 6 — Measurement

Name:

Calculate the volumes of all the figures below. Use the knowledge that you have!!!
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6. Square based box with a cylindrical hole.

9cm

ke 48 cm
v i - b 2 Oftsa
C b'@ léh, 63 f_@fr;(g/ SOX; U:JQVA
S 2o e Yl
= erm 3
_ (\f’/{“lﬁ — (79.9€ 3 /= 4//9’7;2 am
C.@ﬂﬁ \/ B 3 / . (/1 ?7’(_1}\ 0‘9;
4 Cylrdr 9
V= (200 V- () (85(15)
I e [ 199573
\/f A5, [Lend Tcpq(q/ lns 2993 e
= 10327 7.5
8.
35 cm

42 cm
9cm

Box: /= L
V= (9)3)(+)

v 665636 V= 5,250
G Vol | e Y- YCh
3 6&{3[_61 L 207

V= 2z = (39) G
2 X

- 124,174
U= 13411 ; U~ (33529
bl Yokne = (UL OS2ER | B/ s = (9576 29,2



9. Tennis balls with a 3 inch diameter are sold in cans of three. The can is a cylinder. Assume the balls

touch the can on the sides, top and bottom.

a) What is the volume of one tennis ball?
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10. Cut out the cylinder.
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b) What is the volume of the space not occupied by the

tennis balls?
( am;v

V= Mr

V=G /ﬂf)(//gﬂ?bq{&

V= £3.59,7

C >/ /"nﬁf’erf

Ermil spee |2 63 09 - 3 (/13)
[/: QZQMZ

11.
Scm
3cm
> T
3cm| Bom
10cm

V= (19(8(3)
V= /50

/- Ql%@

V= )(5)(c)

V= Do..?

Total /= Soo..}



Find the surface area of each figure. Careful with the formulas as not all parts need to be covered....
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14. Hole is only on one side, with diameter of 8 cm. 15.
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